“Test Form No.

ez o

2505854 | 1ottt 210t 11 Cemrttn it 21 0,01 N0

P 2.5 (ghemfi A7es T, S . 7 40 ) S oA 200

e R g i St s o st sten. o Bt oo st s 3 o
T T E Form STt eaT & W ) SR e 3w it e fedt A 4 e

GJ-2015 GG - 2505854

TS TRUCTONS TO CANDIDATE T 7
et com 1
& Gowrs et Ressorm. (S0Ckessine)
+ Generdl Asners ]
Quantratne Aptude (0w
Finglh Compredaeiat 00w
2 e i i o

the gl version wil prevar
s s ccamplsoy and cory chs.
o negens warkisg. 025 ks il . ddcd forench | 3

i
e deréo, e gt ey

nnVuunll?mxmwerIhtqunnomummuu»hx\ulvlhn: bbb alaillnoibo Y aleclhich
Tt s st e

Yoot trepaded e i mdmmmmmmﬁmmﬁau
. s e B £, 3w € o

s i o e f e A e orclany. You
o e ﬂﬂwm\An-{«upaﬁwﬁmmwmmiw
I i et
s R | el o s s a6 1 A
and you

S I'AS‘M;’l’]’.,".‘xf?...?“i’.‘.‘il":.l"li‘v;’:i | oy e 0 e ok g
e B el ! et s
T el iy s st o Ll s \ P st S m Tl by
e g o iy akibund ey
o < 4 7 7 de 8 50 1 47 12 7k
o4 o el of th A St aga e I oot AWn OF | SO R s A a1 99 e o e
4 | s s i
iy A et ol

" i i forntins e oz diffevers rom he ormation | 3+ T STE 3T W i ~uwwwﬁ§=qu sl rﬂm
o

mak ’wm‘
ieavethe Examination Hell s

" » m.mwmﬁawﬁxﬁvmwv}wwmwwmw

1 B e G vt 1
S v
12 s e e s if.f,'?“:"ﬂf.:‘l‘ff Some |12 T 5 Sk el v i o1 g v v vy
| ) oG o e s
5. i Sl e 20 % 50 0 a4 3 120 % 7 4
? ¢l 510 e a0 e e

o ucssen
13 T of Guetion N 391050 10 168 10180 i o gt

oo T oo ey mnn
0 Noruughwck »thd«mmmr,\uwer’m«l Spaceforrough | 1A, 4 T 5 SO ve A a1 1 o v g
ed bl the gucsion | o
15 "Mubile ,,/.p;n an: wirdess Ww.m.mm’u st or . oty s i 4 s b e e st e |
complsiely bamied ix the examination halls/rooms. | s oo ﬁm}ﬁ

oo commmicaion fviet it hem i o k| st ot oo o
i W F o ol ik | e ) o o o 5 a1
Voovison il B consiler a5 v s sheuns i e all bl ot i
examination and action will br takex against them includi i ol e wtar
camtellation o their condidature. " | e, s anater e e 24 e

57 Gl @7 wiel a7 a1 G 79 TE wa T A

GJ 2015/ Fagel



PART - A / 9T - &
GENERAL INTELLIGENCE & REASONING / WIWI sfigu us wekwifear

Directions : In question numbers 1 to 3 from the given

usingthe lettersofthe given word.
Fadon : oA w1 3 9, Preifalad fased § & o v
e 9 o R sl w A ad @n T

A
1 'SUPERINTENDENT
(A) DOCTOR ) NURSE
(© INTINSE (©) DENTIST
2. DISTRIBUTION
(®) SITCATION ®)  TUTION
© TRUST ©) DISIURB
3. INCONVENIENCE
(&) CONVENE () CONVINCE
Q c () CONCEIVE
4 T+ means’ — X, X" means‘+¢

and " means * +. Which combination will give
‘youthe value of Y

afs e Fad xh A
eF e mad s Ad e 4012020007
BT FAR AT 0" A 2

@) -+ x4+ ® +-=x

Q@ x-++ O 4 x

In a certain hnhuage FASHION is coded as
TFOTHSAN. How is TROBLEM coded inthat code ?

Ft s w7 ¥ A FASHION A1 FOIHSAN

o T & X, 3¢ F9E A PROBLEM T &8 ferear

w2

(A) PELBORM

(©) RPBOELM

(8) PRBOELM
(©) ROBLEMP

1 ROMEis writtem s MORE then DAREis writien
Sl

7 ROMT, 1 MORE feratt S & it DARE % 71
feran wmem 2

(A) RADE
(©) RDEA

® RATD
L) RDAE

7.

In g certaln code 'GARNISH' 13 written o5
“RGAINHS". How will “GENIOUS” be written in

GARNISH’ F “RGAINFS” firen wmn
1 Il FS A “GENIOUS” F 7 fern e 2
(A NGEOISL ® NEGIOUS
(G GENOIST

Afterinterchanging + and 8 and 7, which one of
the follawing bocomes correct ?

+ 3l — i, §307 T TER T T Pt
AR v w2

() Bx2+7- ® 7x8+6 9=25
© 8-7+3x (1) '§+8x2-7=0

Directions : Tn question numbers 9 to 13, find the odd

p:
Frder: e w913 ¥, few e ferarel # @ forw sy

m/wwgﬁm
(&) Bristo) ) Geneva
© ‘urich ©) Berene
(&) e () W
© v O ¥
10. 6 LKM ® m
© STR © oNP
11 (A) Kidnap ® Kil
(Q Assassinate @) Murder
(&) FrmEm ®
©Q & T
12 @326 @ 3B (4B O 39
1B (A) 3-30 ®)"44-31
© 6-12 ©)25-21

Raju drives 25 kin North and turns left and travels
kmand reaches point ‘O He then tuns right and

covers another5 km, Akterwards turns (o Eastand

drives 5 km. How much distance he has to travel to

‘gobacko the stirting point ?

T 25 fmE I fewn ¥ T ¢ o 77w qewt 5

. s & i O g TS T e ST

Hew 5 Rl aw 21 3w g e d fam A

TR 5 o), S | S g A

&0 F 33 faerft gt @ wedt 2t 2

(4) 25km/ . ®) 30 km/fE. .

© 35km/fE ©) 20km/fwA.
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Kailash walks 3 km to East and turns South and
walks 4 km. Again turns West and walks 6 km.
Hanw far i he from the sarting point 2

e 3 . T fen et & ot < e
afm, o &1 o afeem e 6 PR Al s 1
i e & e w2

A Skm/Ref ®) 6km/fa.
© 7R ©) 3kmy/Fof.
and 17, ane.

in question numbers 16 or o

Statements are given followed by two corclusions/

tobetr.

Known facts, You are to decide which of the given
conclusicns/assumptions can definitely be drawn from
the given statement. Indicate your answer.
e : A EL 16 3R 178, 1 ) e few e E, ok
i 2 firwdy A, 1 St e TR €1 s ferew
w0 & FF T Fe ® TR T A W6 Al 4w
VI H B e o e 3, 6 T s 4 A
T frfiee w7 @ W P/ e e <A ¢
AP T W R Fifw)

16.

Statement:

‘The crop condition continues to be critical even after

the rains.

Conclusions:

@ Thecrop condition was ot crilical beforg rains.

(W) The crop condition was expected to improve
after the rains.

(A) Tonly (K1) is implicit

(8) Ifboth (1) and (I areimphicit

(Q fneither (1) nor (11} s implicit

(D) Ifonly (1) is implicit

w:

A Y 3¢ e e ) e g o € 1

m R AT Fow w feafs TE T 40

() i e 4 feaiy S e 980
Ll

W e Fred () WA Y

® P (n 3 A

(G A FreRd (1) st § Fremd (w1

O e et () @ E

7.

Statements :

(1) Some Politiciansare Social Workers.

@ All Doctors are Social Workers.

Cofielusians:

1 Some Doctorsare Politicians

1) Some Social Waorkers are Doctors as well as
Polificians.

(&) Only conclusion (I folows

(1 Both conclusions (1) and (L1) follow

(© Neither conclusion (i) or (1) follows,

) Only conclusion () follows

wa

(1) T3 TSR, e Fwat

@ Wi fafe, Wi S

et

© T3 fafew, T £

(@) T B Fria, fafees aa T EE
@

(a) e Framd (1o Fraerm 1

® P 1) 7o (o 2 P 1

(o e (1% 8 et (e 41
©) e Fred ( Frrerm &1

Select from the alternatives anappropriate term that
sidenticat to the term ACEG.

e fae A e S R AP W ACEG ¥

o
@ g ® 0Qsy,
© GHIN (D) BDEF.

Directions : In question numbers. 19 and 20, arrange the
following words as per order inthe dictionary.

frdwr : 7 W 19 o 20, Freaferia vl 0 weRw
 fe 5 35 orge e |

19

20:

@ Consame. () Consciousness

@) Conscience  (4) Comservation
9 Consequence

@) 3.52.41 ® 31254
© 321,54 © 32541
1) Convince (2) Converge

() Convenience
() Convere
@) 14325
© 42331

(4) Convalesce

®) 43,215
© 43251

SPACE FOR ROUGH WORK / % @14 % fed s
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21, Whichone setof letters when scquentiolly placedat | 26.
the gaps in the given letter series shall complete it 2
& - e ¥ Wl B R FW W W
o % S 1 3 T A R
BRO W KB &OWNR (A) 26 2 23 27
») owow (®) RORO " @) ® 25 © ™
© WNWN (D) OWRW “ by ﬂ‘

issing. Ch
from the given ones that will complete the series..
frdor - v H 228 249, U g fom &, fored w2 (A) 84 ® 94 (C)I 104 (D) 74
S P, 30.  Sixmembors ofa family namely A, B, C, D, E, Fare
abi il R R s avelling together. Bis the son of Cbut C s not he

Wﬁwﬁ' mather of B. A and C are married couple E is the
FAK, IEM,LIO,_2 . brother of C. Dis the daughter of A. Fis the brother
&) oMQ ® ‘NoP of B. How many male members are there in the
© MNO ® ora family ?

23, 3,53510,12,35 2,7 WW*WWA,F,QD,EFKTWWW(
@15 ® v W E B CT TR A OB A
Q1u m 22.35 Adiclefrafre & cHmd DA

M %,34,30,28,%, 2 ga'lal'r“nﬂ\w!hvm"(mﬁwmﬁ?
® 2 ® 23 © 26 o 20 ® 3 ® 2 Q1 © 4

-e: 31 Therearedeerand peacocks ina 200. By (ounlmg
fwbe from the giver respanses. How many poscocks arethere

frdwr: W . 259 29, few T ol 9 [ oFF WM s fafim 3 fi of v & o el w A 80 8.

T st il o s 200 % R fod §7

2. [a[3]z2]s]32) (A 30 ® 50 © 60 o2
|| 32 Ann,Bill and Ken shared some stamps i the ratio
| EAEX A A K| 2:3:4. Afteragame, the ratio became 5:2; 2. I Ann

EN A N 1 wan 21 stamps, how many did ken fose?
&) 60 ® 84 @ 120, @ 27 0, e R IR 2:3 4 F IR A go R

AR o e ¥ W S S 228 T A

@Wes. 729 QM0 @57

z 2 3 8
4 5 0
6 7 2
ENE K

Wi ® 92 @30 [20

1 216 343 A3 21 femd oAl A A A ferrt oo nll 2

5 125 512 @1 ®ma - 9B O7

27 o B B3,

= ani 575 ‘word letters / miamber érom the given altewatives.
frdar:

e e 597 38 fy T fawe 3 % wet v/

:ﬂm/mﬂaﬁw

Tnsects Frtomalogy - snzkes 29
@ logy

(Q Cetology w)) Myro!ngy
o

(@ wifaam ® Fhfaam
© =m frm (©) F frar

SPACE FOR ROUGH WORK / T & & ferd ame
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M aynTi 2

W wms Q3 8
35, Dml \wsa LN 2

@ ® TWYZ

© PM'W ©) QoM

36, Kidnes: Nephron:: Contral Nervous System: _2_

(4 Spinal Cord (® Cerebrum
© Neurons © Brain
T A A 2
) WY () e
© W) =
37 JOKE:GLHB::RISK: 2,
® ST ® QHRI
© oFFH D) ULVN
38 Y2:4nV2o 2
W me @B O

Directions: In quéstion numbers 39 and 40, which answer

4L Iamircor s placed on the line MN, then which of
wer figures 15 the nght image of the given

igure?
ufe.um 2dv B MN Y T T A A S
ST B A e e st o 1 sl

]

Question figure / T 3T
M

=

Answer figares/ 3 sl

D)
Directions : A word is represented by only one set of
umbers as given in any oné of thealternatives. Thesets of
by two

e : o i 39 I 40 W, FH-T T G WA
argfa ¥ wirEs W q@weh?
39, Question figure/ ¥ ST

]

Answer igures/ S STl

(LG

40.  Question figure/ W STF

f@ZC

7=

©)

Answer ﬂguvrs/m T
(A) ©) ©

i Telow. The
columns and.rows of Matrix T are numbered from 0 to 4
and that g e umbered tom 109, A ket rom

Ly itsealumn, e, Lln'l«r(pvw«‘n\wd by 03, 10 etc.,
and ucanbeupmemedms&sam Similarly, you!
have toidentify the sctfor the word BEAK’
Frdar : & Wi o T HON-HE B A T 8, A
o forrdt 3 2 faft v F o @1 fereret AR T
Hem-wE Sl & & i g g T ¥, S i A
o R SR A 1 S 13w S e
0R 4T} M IFFNF 5975 T A 0 AWM
FTE A H o S AR I HE g e
TR | T 5 R A" T, 10 2 3R 29 0w
AW D F 38, 65 A g W W AFA Y| TR AER
e 8 o R BEAK’ ¥ e 5 ) a1

42 Matx/308- 1 Matrix/ 315 - 11
PR K]
oAt [ 1
T[8l0]| [%
AlTlc| =
5lolal [= T
T{cle] [v]k[o[L]
@ 32 2 (B) 20 10 87 &
© 4 81075 @ 4752288
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M aynTi 2

W wms Q3 8
35, Dml \wsa LN 2

@ ® TWYZ

© PM'W ©) QoM

36, Kidnes: Nephron:: Contral Nervous System: _2_

(4 Spinal Cord (® Cerebrum
© Neurons © Brain
T A A 2
) WY () e
© W) =
37 JOKE:GLHB::RISK: 2,
® ST ® QHRI
© oFFH D) ULVN
38 Y2:4nV2o 2
W me @B O

Directions: In quéstion numbers 39 and 40, which answer

4L Iamircor s placed on the line MN, then which of
wer figures 15 the nght image of the given

igure?
ufe.um 2dv B MN Y T T A A S
ST B A e e st o 1 sl

]

Question figure / T 3T
M

=

Answer figares/ 3 sl

D)
Directions : A word is represented by only one set of
umbers as given in any oné of thealternatives. Thesets of
by two

e : o i 39 I 40 W, FH-T T G WA
argfa ¥ wirEs W q@weh?
39, Question figure/ ¥ ST

]

Answer igures/ S STl

(LG

40.  Question figure/ W STF

f@ZC

7=

©)

Answer ﬂguvrs/m T
(A) ©) ©

i Telow. The
columns and.rows of Matrix T are numbered from 0 to 4
and that g e umbered tom 109, A ket rom

Ly itsealumn, e, Lln'l«r(pvw«‘n\wd by 03, 10 etc.,
and ucanbeupmemedms&sam Similarly, you!
have toidentify the sctfor the word BEAK’
Frdar : & Wi o T HON-HE B A T 8, A
o forrdt 3 2 faft v F o @1 fereret AR T
Hem-wE Sl & & i g g T ¥, S i A
o R SR A 1 S 13w S e
0R 4T} M IFFNF 5975 T A 0 AWM
FTE A H o S AR I HE g e
TR | T 5 R A" T, 10 2 3R 29 0w
AW D F 38, 65 A g W W AFA Y| TR AER
e 8 o R BEAK’ ¥ e 5 ) a1

42 Matx/308- 1 Matrix/ 315 - 11
PR K]
oAt [ 1
T[8l0]| [%
AlTlc| =
5lolal [= T
T{cle] [v]k[o[L]
@ 32 2 (B) 20 10 87 &
© 4 81075 @ 4752288
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43 ifa paper s folded ina particular manner ard #
puich is rade, when unfolded this paper appears
25 given below in the question figure. Find out the
manner inwhich the psper is folded and the punch.
is made from the answer figures given

afi fait =0 ) T v fafi & HrewoF 9T
faa T @ AR EE R & v sl
m fem & k1 E W I sngaE QA Tt
wd 5 Fome B few TR A ol 3= fEm T
@2

46 Sclectthe answer figure in which the question figure
s hidden

et aw et 1 A wT o e atepfa et
L3l

Question figure/ 5% S

Arswwor figures) T st
55 B 57
< | !@: /
Bl Do) D i

@A) (B) © )

45, Ma paper s folded as shown in thefigurc toforma
cube: then the pairs of opposite faces are :

—

I
E

—
- and +
AandD

Ln and O

2]

7259) (1] [5mo)
+and Of | +and A| | Aand O
Fand 0| [+and O |+ and =
Sand Of [Oand Of | D and Of
=

® © (=]

e 7 2 3 o g <A S
S ST ) - ] 3 A 02

4]
goE
Faﬂu]’Tmo LA
aAsp |+ Ol |+kO
ool (s o) (o
Y © ©

Directioris : in question numbers 4 and 47, among the

g
peces given in question figure.

Fter i, 4o ot a7 Frefiofon w2 g g € S e
# 8 < o e

46, Question figure/ W STFfa

(54

Answer figures/ 3T AFRAT

Syl

A)

SPACE FOR ROUGH WORK / 7% wrd & ferd smg
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7.

Question igure/ FEF TFT
A
Answer figures/ SW Agtal

lSleiiel

Directions : In question numbers 48 to.50; identify the
Siagramthat i

givenbelow :
e : v Wem 48 9 50, @ v gfi S A fag g
T % i W= T e

.

Tigers, Lions, Animals ?
am, fiig, T 7

Q@

Professors, Researchers, Scientists 7

=G

Languages, English and Kannada ?
e, S A S 2

SR

0.

CEREBRAL PALSY CANDIDATES ONLY
Faet P,/ AT wedt Iuieant % fo

FOR VISUALLY HANDICAPPED/

Ifiacade CORNER is writienas CSVRIV. How can
CHNTRALis written in that code ?

el e H CORNER T CsvRIv frmnsmn #1 4
P CENTRAL 1 ¥4 feran smem

() GIRXVEP ®) GIRYVEP

(O GNEKER (D) DFOUSBM

Inacortain code, the following numbers are coded
ina certain ay by assigning signs
ST+ voa X Y

12 3 45 678

Which number can be decoded from the fallowing 7
xv ety

ot B ¥ Fcifiafan dendl ) v fifraa @1 @
Pl A 5ifsa fran
X - v x4
U2 345 678
Frefufan @ a0 wen ) frafea fem o wEa
(3

xv="4+
052371 ® 75324
@ 37,542 © 423,57

‘The average age of 7.employees in a departmentis
40 years. One menmiber of 55 years seeks voluntary
retirement and a hew employce of 27 years joins
What isthe average age in the department now 2
et fawmn 4 7 el % s g a0 4
553 1 T A A g @ S A
277 1 T et 3m o £ 9, 57 fm A
St a3 e £7
) 36

© 2

W 37
®) 35

SPACE FOR ROUGH WORK / T& & % ford s
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51

PART - B / I - &

GENERAL AWARENESS / HII ST

5. Din-
ightcombatairrstof rnu.. 7
(A) Vi [( iB) Tansen
Q :\qul\ ) Ak D) Raja Man Singh
frerferfas § 4 F-a S s @ w=Rw § faffa A 3 -3-TAE F R Y
g foma 2 ®
@ Tl ® W rn) Al
© s ©) e 56 Whichothefllowing s notcorectabout Mahatma
Mastihe follanlogy (A) Gandhl advocated complete separation of
((;)) Chlorophyll (-) ) pobtice from eliglon:
Nogtoc
o ‘Gandhi believed in th ity of
§ Do ""; Cocghort e 5 (‘:\dl\‘. SY,%]%L ‘5::2‘?: cion heawsn
sutfoce politics
St 1 frem mm-ﬂt:ﬂhwmiﬂwmwﬁv
m 255 (8 TS et 048 0
() FMORE @ wrudm o
& Tom () S s fe ® mmmxvmwm
; = i " © it s
@ :fiﬂfﬂ (v} W e A T S b v 0k
%}) 57. WI\e was the Nawab of Bengal during “Battle of
1
© ) @) () @ (Ab s:-i«;«d duala (B) Mir Jafar
© o @) @) © © MirQasim ) Noneol these
som can jump highe o the moon's st TR ¥ 7 5 T A A B 02
ﬂ’:au{:l"\ the earth bec: e N (@) Toumcda (® R,
{ le moon's sus $
{5 Themaon has m“?w'i,: a Q e 0 AN
(© The accleration due to gmvuy in moon is | 8. Which one of the following is the infective stage of
smaller than that on' the malarial parasite ?
i})ﬂ;lmmgokrmne:nhﬂ - 5/0\1 trophoroie ‘[g)) ebomoblast
el o wE schizoz Sporozoi
ok mlfbibiiaid g e T ) i 4 @ 40 s
(&) Sz T Tl @ TR E?
® e Tl () IR ® wrww
© e gm«wtmmmwwa © st ©) wasieTe
AWM 9.

(D) “zm yea § v 3% A )

of the regions that receives rainil from the
north-easterly monsoan s

@) Kewla (B} Westbengnl
©_Tamil Nadu

5 wwamwawmm
(@) ¥ ®) T AT
© g ©) sTm

GJ-2015/Paged

Inmountainous areas a natural cause for road blocks
soften

(A) mafic congestion

z0ad repairs and construction
(() land slides
) treefelling

& A T ¥ g € Wi ww
;g 2
() T 7 VT (8) s e S P
© Y- (D) 380 F R



60.  Biodiversity is also known as
{A) Between habitat diversily
{Q Global diversu
(D) Within habitat diversity
f F off e S 2
(%) 0 e fafaam &

61 Whih oS of these animals s jawlcss ?

)M 0 Sphyrna
© rm,m [©) Shark
A s s e €2
» mwm ® fe
© e ©) W

2. Headquarters of Européan Union (EU) is situated
in

(A) Paris (France)
(s) M:hn (Italy)
mch((ﬂm ny)

) Bruts < (Belgrumm)

TR T H A e e

@ YO @ BEm ()

(© T (S ) e (o)
63. Thk-mbskmcnl,-haolcsplmnun

(A) Glyc ® P m\ lraud

@ tn ©) G

ST T AT 7§ 7

(&) T @) v

© wRw ©) T
4. Whatis the speciality of Windows-NT?

(A) Supports Multi-processing

(® Supports LAN and WAN

(©) Supporls Bach ing

() Supports Real-time Proccssing,

fERNT % %2

() R WA R ANE )

© B LAN) FET (WAN) BT w4

(© % it o w21

(©) 7@ 2 FREN B 79w €
65, The mercury and sodium street amps ight up

(A) Ek(tmn absorption

rrtion

© Atomicemission
©) Electron emission

1450 S A m 7 e P S A 2322
) TR @) o s
@ vz ©) TR

GJ-2015/ Pagel0

6.

6.

7.

Competitionfo oo, lightaud space s monsevere

@™ distanty related species growing in the same
7) distantly reatcd species growing i diferent

@ bseiyecat specics growing inthesamearca
o in the same niche
(©) closely related species growing in different

Ha
I, YRR S v A e s T T s
e

(A) mﬁmwﬁammmmmﬁm

el 3 41 1 =t Tt el o
(c) wﬂm:‘lmﬁnﬁﬂ it e weifi
vt

(D) afor v e 8 e e il el
Which of the following country.has the longest
‘gverland tunnel?

(A) Germany

(Q Spain ¢
w aamwﬂmmwwb

(Q W (’3’)
Which one of the following is not a feature of
ference curves
(@) They arepasale o exchother
(¥ Theyslope downwards (o the right
{3 QR ot ot o caner

They are concave to cach ather

(©) Balance of Payments.

T B SR B 7w
i

) T ® AN
© @i ) e g
By poaon e moring clement

‘A poputa s nontiving elem
i commnty 8
Q). Abiotic community andits non-fving elements
) Populaton
e g3 T e e 4 7
() TR ST o
(@ Sfeha wger
(@ <l R 3 3 P
) G



7L Koyl Arhasasss” moioly dels it 77, Match the following lists and select the correct
A) social as ®)
Q@ military. n\rw w (D) political state crait Listl st L
e & AR’ 1 He T, ®? Crups First in the World
o IEETE @) mﬂiﬁm (o) Rice Brazil
© M, (© it T @ Maize (i) Mala
72 Rotation o cropsisesentl () Rubber (i) U““‘
(A) Tor decreasmjsthe uantity of proteins () Sugar cane  (iv) US
(B} For getting difcrent kinds of crops Frfefaa afemmet 1 am @ e ) e
() Forincreasing fertility of the soil & 5
1) Eo incecsson T goantty o micergls W P Y
e 1 S i it 7 AR 1 e I
P - w wawi v
(@ Fafves s 7 T A @ o o e
© EAH@R T © = @) =
 wei e o Yol
73, The purposeof choke ina fluarescent lamp is: i
@) Soimirease he cuctertlow ® @ ) SRy erf
{B) todecrease thevaltage momentarily @ ® @ @
() todecrease the revistance (A) () (v) () ()
{D)_todecrease the curzent flow ® @) ) 6 i
Wi E? © @) 1) )
) W*‘:‘ﬂﬁﬁm ) () i) G) )
By 3 oo 7w 78, TheNational Folice Academy is located at
(© FRET T (A Hyderabad (B) AbuRoa
. (T';i W;*“;"fﬁ*:fwl e (O Dehradun (D) Bangaluru
3. Theauthorof the book “7ist for lite” Is .
(A) HG. Walls ) EmileZola S8 Sl ¥ feam ¥2
Q) 1lask Twain D) V;‘gqm;‘f\’o\l ) FER B a93s
R R S g rafm © e ©) Fs
@)z, e mmm 79 Rainbo duced when sunlight
. Rainbows are produced when sunlight:
0 v g o e (8) Incident on rain dsaps Nanging in the
75 Aflatoxins are produced by . atmosphere is dispersed after suffering
EQ) L ngi ({gl) ﬁ:mma reflection
Trses lga. Incident on rain drops hanging in the
e o f 143 L] atmosphere is dispmspl:ﬂ ok s‘zﬂennx
(a) F9H @) refraction
faare] e (O Incident on rain drops hanging in the
‘C’ ® atmosphere)is dwpcnpcd ani sufforing
76 The apparent weight of a man in a ftisless than Pelfa o internal roflect
“~§""‘,j‘“wg‘; 25 W, (D) Noneof the above smemen(;xscorrecl

(D) the lftis going up with anacceleration
e H T T T A9 Al g9 | w4 T

2
(&) @ forz 1 R A9 A
() T forw T A N A
(O T forwe s T @ A9 A A
(©) a forwe a9 & 91
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The soft sivery mealic dement which jonizes

wmt is Amncsty [ternational ?

fre sy
®) cesium

W T A T e §, a5

) Frraftm (8 W

(© #ferm ) i

Addition of excessive amounts of heat in a lake is
roferred oas:

(4) Gremn oo Btiet  B) ‘Thomml Pk
q Rdngeuhonelim ) Hea

T

S
§7
(a) 7 g S © v
@ it 3w ©) e

When income iricreases, consumption also
increases

s
(A) inthe same proportion
() inalowerproportion
(q inaigterpropirtion

el the sbove -
m Bibaste et/ P ST # g it 2
(&) T IR A @) %1 g
© b R A
What acconding to commnisn s he hief nemy
of the societ

@ Religion” ®) Surplus value
(@ Privateproperty () Capitalist class
AR ¥ ATAR S FGA e

® © ¥

© Fet s ©) W
Theonly AICC ssion Ganchiji presided was held
at:

(@) Belgaum @) Calcuta

O Madms Lahore

(&) ATy W (Q (n)amt

(u)  PoxceMowerent
imal Rights Protetion Orgarission
5 Atiumn 21 ights Organisati
TR
(&) TRt Teae WA
(B ife stz
() g SR T w7

(L) T EE
The first Sultan of Dalhi o isvue regular currency
and declaze Deias th capital of s rmpire was:

() Balban
© Oubnddinpibak  0) NomStah
Frafia 70 Wil FA et 1 9 Ty

T e e A e 1 9 e
m

(A) e

© T
In the case of deadlock between the two houses of
the ;uhamcm, thejoint sittingis presided over by

® s
(D). S e

A) Spoakir Lok Sabha
(B) Vice President
(© The: g member of Lok Sabha
(D) Presiden
e 2 5 e g o e 9
e 7t s e 7
) s aw aman ® wwwR
© T Fafem = (D) T
TheThiponth ProvnBhariyaDivs s o

B ot @ tocon

(O Bangaluru D) New Delhi

83y P, 158 s e e
difre ™2

(@) mieTTC ®

{0 Jwge © 7 feeht

remedics Losoil erosion are:
(2) Conjourbunding

() Kegulation of land use
(e) Cuftirgof trees

d\ez‘ilundesmof.
@ Gl @ Barium

© iedlum (D) Strontium
st 3 T . T T &
fewd 3 87
(&) Fhmm
{© wfgm

@® 3fem
©) Bfzm
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of both the High Covris and the Supreme Court

(A) Dispute between states interse

(B Protection of Fundamental Rights

(O Protection against the Violation of the
ttion

() Disputes between Centreand the States

Freifefa 4 2 T 3= e S I R

2T A & e 2

() el ¥ e T fre

(®) = St w1 wEm

(© W 5 eeien & freg s

D) % M T F o e

Catalytic converters are generally made from

() Hydrogen (® Carbon
() Transition metals ) Alkaline metals
TR T W o T § 2

(®) wE 9 =T

© Wi wg () swtm oy

From the national point of view, which of the
following indicates Micro Approach ?

(4) Per capita income in India

® Inflation in India

(© Study ofsalesof TISCO

(D) Educated unemploymentinTndia

T g, Pt F @ g e
A t?

(A) @ ¥ W =R I

© T

(© T 3 gt o o

(D) e fefi T

Movement of people from avillage lo a small town
and latertoacity is known as :

(A) intra-state migration

(®) interstatomigration

(© step-wisemigration

(D) forced migration

i R VR T AR A F T wF el F A R
we¥?

(&) ST T
(© SRR E

® st vaw
©) "
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y with

The h
threccategorioof il ervices, amly
(A) Alllndio, Central and State Services
(B) Adminisicetive, Police and Railway Services
© Adminiaaive, P

D) A

() s e, 3% ol T F

(®) S, Y 4T d

© e, e o P e

) W, TR S T

Jaspal Rana is the nasme associated with which of
the following games?

() Shooting Axchery

© WoightLsting ) Boxing

S T e ﬁ'« iﬂ A HIG AT
(A) Frmaradt ® At

© e © g

In a Database Manageiiient System (DDMS), the
content and the location of the data is defined by

the.
(A) sequéncedata (1) multi dimensional data
Q meiadata

Man Booker Prize for 2014 was swarded to -
(A) Amrita Pritom. ©) Shashi Tharoot

Q) Lech Walesa (D) Richard Flanagan
2014 F7 37 T \#mﬁmw

) aqm‘mn ® wiaase

© ) o TR

Which omeof the following slcn the it sale
e land in Some areas
*) (8) usar
i % e Wy W THEAL =a ™
o

(A) = 1
() e e At
© FE AR b

() TR F 2 YA
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PART -

C/vm-7

QUANTITATIVE APTITUDE / uftmmmess sfusfa

A conical iron piece having dnme«sr 28 cmand | 105, O'is the incentre of AFQR and if ZQPR —30°, then
height £QORis
cylindrical vessel, resulting in itk b g
by 6:4cm. The diameter, incm, of the vessel is AT AHZ0R AR 2QPR=50"T, LQURF
248 i 0 8 e il v SR i
& B F) U AT G H 9 F gl gal fean @ BE @ 125 QU O
Wi #, fand  wfimeEET wm # w
4 B, T ) oo, A, AR Y
E 106, 0 thenthevalueof ¥ 5 43
(5 z ® 35 © 32 O 35 @
s
The area of the triangle formed by 'heg'aphsch.he " "
quations x=4, y=3 and 3x +4y. TRda- L +3=0E WMy 3 wAE:
=3 31+4y=11m #mﬁ kil
A A 4 3 b1} 2 7
@y e og o
{4) 4sq unit/TIEE  (B) 6sq unit/® 35
© 12s) unit/THTHFE ) 3sq. unit/ T HH
107, A dealér buiys an aticle listed at € 100 and gets

1 two numbers are in the ratic 2: 3 and the ratio
becomes3: 4when8 s added to both the numbers,
then the sm o the two numbers1s

Adiersir T e 2 st wEnai A g g
W 34 R, B R e
t

Ay 40

® 80 © 100 (B0

The percentage of metals in a mirie of lead ore is
3

0% Now the percentage o silver s % of metals

and the rest s lead. [f the mass of ore extracted from
this minc is 8000 kg, the mass (in kg) of lead
st

T W SFATE F A A T F A 60% T
} el S dm

s i f w9 & yFvien

ruccessive discounts of 10% and 20%. He spends
10% of the cost price on kransportation. Al what
rice should fe sell the article o earn a profit of
15%7

T R 100 F1 R F A ] wd
# ST IR 10% o117 20% T g2 T@ I E
¢ W WG # 10% ger U ad AT ¥
15% F1 T Sra FA & e 3w A e A
TR ?
(&) 25200 B 79120
© Ts108 ) T80

I sectheh tand 2 + 5 . then the value of sin is
282007

@

Afgsecd ~nd =2+ V3 &, & sing w1 WA
afz 3w wr A fEE T e w1 e 20 <0 =90
8000 7 . ¥ A1 w1 1 o (fFw H) § - 1 2 N A
@) 472 (B 4763 (Q 4763 (D) 4761 wE ® 5 O3 ©
SPACE FOR ROUGH WORK / T% &1 & ford wmm
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and the rest s lead. [f the mass of ore extracted from
this minc is 8000 kg, the mass (in kg) of lead
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T W SFATE F A A T F A 60% T
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s i f w9 & yFvien

ruccessive discounts of 10% and 20%. He spends
10% of the cost price on kransportation. Al what
rice should fe sell the article o earn a profit of
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T R 100 F1 R F A ] wd
# ST IR 10% o117 20% T g2 T@ I E
¢ W WG # 10% ger U ad AT ¥
15% F1 T Sra FA & e 3w A e A
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(&) 25200 B 79120
© Ts108 ) T80

I sectheh tand 2 + 5 . then the value of sin is
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19,

@1 @1 Q2

ItanA +conh =2, then thevalue ofar A 1 ol

“Two towers A and B have lengths 45 m and 15 m
specively. Theangleofeleatonfromiberottom
oftheBtowertothe opaithe A owerisc” Ifthe
x\gleo!elnalmn{mnﬂwm om of A f

topof the B tower is 9, then valuc of sinf is :

A R B3 S 5 T . 45, SO B
HI B % 7 A W A 3 i T B 6008

TR HR A 35 70 @ AR B % i w1 9w wme g,
Asing FAAE :

1 3 1
wz oA+ ot =2 8, F tanl0A + oty T T @z B 2
(A) M @ ©1 o 2 123, Ihespeed of aboat instill water is 6 km/hr and the
spewd of the stream 1515 kmy/hr. A manzows toa
Alibravian purchased 50 story-books for his library. P
Bat he saw that he covld get 14 more books by Blececa chtance of b e ai “":‘f;""‘k‘““"
spending] price p ¥,
‘would bercduced by 2 1. The average price (in?) of (A) 8 hours B 10 hours
eachbook he bougt, was (© 6hours 10 minutes. ({9} 4 hours 0 minutes
T TR 3 3 g ¥ g 5wl w1 A #1 PR v 8 R, ¥ o § o
T WO Py Tt e B 276 3w w0 & w0 w15 G ufa e 81 ww wfE
14 3 3 Bt e f ol I g ehi 25 B AT A A TS
TR 3 ) 0 T WA T ks T o 3f ffg T A o §) g
TR A S T () TR o e W R
@i B0 @5 O et ® 1R
Ifhe discount cf 10% is given on the marked price
of a radio, the gain is 20%. 1f the discount is © sR0mw ramne
increased to 20%, the gain is W & shopk 3
. A shopkeeper allows a discount of 10% on (he
G e ¥ Sifd g1 W 10% g DA & ‘marked price of a camera. Marked price of the
A 20% A &) afe g2 g & 20% T A camera, which costs him ¥ 600, to make a profit of
. 20% should be
. : \ R T 3 TR T 0% g
(A) 5% B 7;% © sz% W) 65% &1 HH0 %1 FR R 2600 B 20% T AN WD
Two pipes A and B can fill a tank with water in F % fore o o e e g wfeq?
0 mimutesand 45 mimatesepectvely H\Awralu ® 7w ® <750
chn iy e k36 s ik
RendBure speed. After 2 minuies & © T80 © 2630
ol o (v i) n which the ik gt
125, Thevalué of

A A o s 30 e s e
A TR 1 e O 90 8 R 26 fire
R w1 e A B R wer o &
127 R C W T 41 4 3 e T
(i #) omz

w2 ® 36

©3  ©I12

OS24 $€0855" + c0s125" +c0s204° + c0S300° is
equalto

COSZA™ 4 COSBE" + c0s125" 4 s 24”4 cos300° F T
fEuE a7

-

w3 ®2 ©-1 o1

SPACE FOR ROUGH WORK / 1% %T4 % ford wWig
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129,

. Given that AABC~APQR. T -

area (APQR) _ 256

wrea (AABC) ~ a41

and PR=12cm, then AC is equal to.
T (APQR) _ 2%
TAASABC- APQRY, IR S =

R pr=12%7 § & Ac fiawd wm¥?

() 16em/Ah, ® 122 cn /FH
© 1575/t © 155cm/A

. I atb-c=14 then the value of
2224274 2072 -2l —ch is's
AWRatb-c~14¥, A
AR+ 2620+ 2302 LA W
w7 ®M @B Do

. ABCD s a cyclic quadrilateral. Diagonals AC and

BD meets at P f ZAPB=110" and ZCBD = 30°, then
£ADBmeasures:

ABCOTH T Tqa ¢ frant ac #fBD, PR
TR F1 7R 2APB=110° R 2CBD=30° %, W
ZADBHI N :

B O8O X
Té the area of the base, height and volumeof a right

prism be %pz an?, 1005 cm , 7200 can®

* respectively, then the value of p will be :

e 0 i e 3 e 1 A, 3 Sl s

e 3252 007 100 20, a5

dpFAIW:

3
@ 5 ® 4 Q2 O 3

sed—tand _, 51
ok el . ST valueofsing is:
e =2 35 thenthe value o sing s

ot 51y

o SR 2 2y dswemm e
39 91 65 35

@ 5 ® 1w 9 Dx

132,

133.

Ramdepesited ucertainsumof money inacompany
2t 12% per annum simple interest for 4 years and
deposited cqual amount in xed deposi ina bank
for 5ycars al 15X per annum simple iterest. i the
difference in the interest from two sources is < 1350
then the sum deposited in each vase is

un 3 s el 123 i
4 3 o o o T
15% 31 7 5 e e e 5
e 11 7t e T B 7 1350 9

i & 1 el T o A T g
®) T 4000 ® 23000
© 26500 © 23000

1A, Band C cancompletea workin 6 days. T A can
work twice faster than B and thrice faster than C,
then the number of days C aigne can complete the
A, Bl C T T =6 Al AU E ww §1oaf A,
B 1 R ol C AR 897 9 3 T
FN, C 373kt 39 3 ) Foet Pl B g e £ 2
&) 2days/fa - @®) 33 days/fET

@ wdays/Fd (0) 1 days/feR

ABand CDare two parallel chords of a circle lying
on the opposite side of the centre and the distance
Between them s 17 cm. The length of AB and €D
axe 10 e and 24 cn respectively. The radius (in
) of thecircle is

AB IR COTF 0 F A TR S § 7 Fm A
Trufia 3R fem § o 39F Sm w gz ARG
ABERCD F1 woard www: 10941, stz dsh 31
@ # e (F0. F)
@13 ® s

©18 D9

. Qs the circumcentre of AABC. If /BAC =85,

£BCA=75", the ZOAC isequalte :
AABCTIEROR( 7/ BAC=85", £BCA=75"
/@ coacFrgF IR E?

W | BE Q7 D

.16 1+cos% =35ind cost, then the integral velue of

waifo<r<3)

11 cost =asing cost 8, A cows 1 g A ©
[qu]

7
Wi ®m2 @3 mo

SPACE FOR ROUGH WORK / T% %14 & o g
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r
E —

5
oo
:

J§v3

sy=7 L

Ry
= ”, R

-y

s & 6 o

NG ®g O o

137. m value of 3(sin'd +cos0) +2(sin'0 + cos®0) +
125in2cos? is

3%+ cos¥)-+ 2sin D+ cost9) +126in6cos? T
e

®s ® 2 ©3 oo

(0324 X008 x 3028

e (=)
0324 % 0.081 X 4,624

)

&) 24 ® 24

© 024 ™ 002

10 AABC, D and E ave two

)wrﬁ?'

id points of sides AB
BC=65",

¥ R LBAC=40 AR LABC =658, A 2CED
@uBe @1y QI Ous
. Atrain leavesstation A at 5 AMand reaches station
train leaves

‘on the same day. The time at which the two trains

ACisa 6
‘with contres Pand Qand radii 6 cmand 3 cm at the
‘points Aand C respectively. If AC c\ltsPQaldm
‘pointBand AB =8 cm then length of PQ

O 8 g e e e & o
imwmotamﬁg,whcvﬁmm
o, s et §1af ACT B S rQ W T
$ ol AB-8 2. ¢ PO A T 45

() 13cm/AA. ® 10cm/Ah

@ 12am/AH: © 15con/ A,

Two alloys contain tin and iron in the ratio of 1 : 2
and2:3, ffthe twoalloys are mixed in the proportion

T e T 5 R A T | st
R e 93 BT BT ) ¥ T ST YT
T 779 R B @ e & ik S o e
10307 R A T T § 24 Yoo T

A A ot AR TR 2
™ sam 736 AM
(© 756AM ©) 826 AM

l't)“nwh\; e chast | Sy the chactond s e
questions 144 N
ﬁmqﬁwﬂﬂﬁﬁmﬁrﬂtmﬂl‘wﬂﬁm

70 7 1 W W A e v ade A s Fawm A

€34 respe

:m\l.nlhtnzwhlutmvdalluyix

& s wrge W fa Sk ww G 123023 F
ey ¥ A SN o wged R w34 %
s (e gm) fifa e T g

st 8 e 9 S ST <
@ Bn ® 10:n
12 ©) 15:25

3
122+ x=5,thenthevalucof (x +3)° +

AWaarms A (x 430 4 - LTI
{x+3)
() 10 Q 130

® 140 © 120

Custom duty
A e
a% Market tax
IProperty tax =
=
5%
Bxcise duty. - Income tax
T S|
Loy .~ . =% |
144, The central angle of the sector representing income
AFF T AR G T TR I
W @ 2¢O ue O

SPACE FOR ROUGH WORK / 7% &4 & ferd wg
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The sum of two uncqual nurmbers is 40, If one of
dm s increased by 5% and the other decreased by
5%, the numbers become equal. The differcnce of
thenumbersis

@ o ot w1 a0 417 3 4w 5%
s iR 'xmwwmq«ﬂ @ e
A ) Fe
@3

Qe

w &

[

Ifeach interior zngle of a regular polygon exceeds
its carresponding exterior angle by 90", then the
number of sides of the pelygon is:

TR T T AT T SR S e
AT 90° i Tl T TG F T
T

7
Qs

® 6
© 38

If(a=b): (b—0=1:1,a ¢ bx, then the value of

FRri

afz (a~b) : (b La=bzck, Al

N 1
w2 ® 3

©o o)

A, Band Ctogotherstarted a busincss. Theamounts
investod by A and B are 2 : 3 whereas the ratio of
investments of Band C s 4 :3. 1f C's share in the
profit is 16,000 then A's share in the profitis (in )
A, B #it 3 e e it ST G A S
710 i i 7 2.3 % w p iR CF
SFITE 43 %1 dfe @ A C 4 R € 18,000 8

dEmE amteEn (1) ¥
(A) 16,000 W 12,000
© 8000 D) 24.000

143,

A man covers first 112 km of his journcy a
S6 b, et 105 K 70 Ko/t and ther et
68 km in one hour. Then the aversge speed
{inkm/hour) is:
TH = TN F T W A 2 R
56 f @l ufy wer w1 wfa } s 105 A
70 Fr . ufa v & e A sl ot TRt e e 5.
o e § T e & A shad afa (RE. v )
2

i

! 5
@ 73 ® 45

© 60 ] 53%

‘The product of two numbers is 15 7= and their
quotient is3. The smaller numlm:.ls

izt v 15 - 4 s s s 3
r TR T TE

w3 ®) %
15 9
© 5 o'y

‘The LCM of two numbérs s 20 times their HCF and
thestmoftheir LOM and HCFis 2520, f onenumber
is 480, themanother number will be

A T S WA S T Fae
T 20 T sl T e s st e
FAATS A 2520 #1 AR v WA 480 F, A
A FE W
@ 900

© o0

® 300
© 1200

SPACE FOR ROUGH WORK / T o4 & ferd Wi
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145, ina year be T7 thenthe | 148. Thetotal
income (in? crores) from ‘Income tax and ‘Excise these 3 months, i espectof he samein the previeus
duty’is: year has been
e v = Fa A 7330 & SR 3f
‘3R e’ & w (FE L) ¢ (A, docreased by 2.27%

(A) T 32985 ® T33145 B s
© |5 ©) ¥ 32980 B K b222

146. I the income from market tax in a year be 165 (© found unaltered
crores then the total income (in ¥ crores) from othet
sourcesis: . ©) increased by 227%

2 foret o 4 Ao A S 165 TR D A
W A FA A (FAGTH) F i 2013 % N ¢ T WA A et ot & =
A3 B M5 Q35 D) 325 Tl & WFrad e gl #) @ve

" and. the questi

Sy thefollowing ™ 227% AwH ® "220% % ofs

years during July to November : © % e T © 227% IS

tamifiafa aR-3AE @ 99 5T 3R T 147150 F

W

T @ w3 A 2 w7 el A O W SE | 149, Thom@xinum diffennce in the units consumption

7 et w9 between these two years has been fond inthe monih

ofz.

i s  Moothe of 2012 - o

o Oe” oy o e st T,
Months of 213 f T2
o B
£,
E«S 0 (A} August/3md {8) October/3HER

5% 0

13 (© November/TreR  ([©) July/%ew

‘ )

0
Jay " August September  October November| | 150, The average electtic consumption by the family
T during these 5 months in 2013 is <
Mt
e — S f pre—
147, In how many months in 2012, the consumption of 203 3l 7 & T e ferr v

clectric units was more than the average units
consumption n that year 2

2012 7 Foet wl A farteh 1 7 9 T
3 ¢ a4 & e o2

3 ® 1 ©s D) 2

S :
) 00units/TFE () 440 univ/ TR

©@ wounit/T (©) 470 univ/ 7

SPACE FOR ROUGH WORK / T% &Td % ford v
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PART - D
ENGLISH COMPREHENSION

irectiuns : [1 Questions No. 151 and 152, d
Fiven in each question, out of which only ene word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

151 (A) merth

(© connoisseur

®) appretiate

) gruesom

152 (A) fortuitous
(Q comissioned

(B haphaiard
(D) zesurgense

jons : In Questions Ne. 153 1155 out of the four
alternatives, choose the Gre which best expresses the

Directions : In Questions No. 159 1o 169, you have twe
passages with § questians follwing each passage . Read

quastion but of the four alternatives and mark it by

PASSAGE-T (Questiuns No. 159-163)
Tn September 2011, Hindustan Times did a study in Delhi

m aushoriis. Earlicr in Mumbsi, 3 municipal clam

ke eii, ity NGO, extracted figures trom e

manicpality sel” Fllowing an K11 n, Praja
revealed 1190 d This se s tobea h r in
& journal T nm. published

153 RESURGENCE

which is many times the World Ifealth orgamm'nné
ﬁgurea!nhmltlEﬂllmid!eanmna.\V«l x Bome Disease
Contol Programm s et ustaround 1000

(&) renewal ® reluctance While The Lancet paper has been disputed, it is clear thal
(@, repletion ©) relocation there must be gross e rapoviig ok sl desths
. Is easily cued i properly treated afer imely diagnosis,
154, INGENUOUS continués to Kill so many Indians > v e
(@) alty ® candid 155, T indestan Times found that the namber of
: malaria cases i
© careless ©) creative {0 thrse times the nambers revealed by U
~ authoriies
15 DAMP (1) exactly as the numbers revealed by.the
) light wet authoritie
& ‘]“ a el (Q half the numbers reveled by the aiithoritics
(© clear (©) compl (D) twice than the numbers revealed by the
rities
3 160. i 2
s In que a‘mmsn, & e i
n ‘nationwide interviews were cartied out
Anpiercheet (©) theinternationaltearnicft India
. (D) intemational reviews ofthe findings were done
156, ZENITH 361, Whotie“the b’ mentionsd i tho pssage?
) shallow ® nadie (A) Exposing the authority's incompeten
bl e ® Cmuiutmgs(udu:tmdsurvey:mhwmuml
- (U i st tgures ot maluincanes
157. ARROGANT @) Fing e
&) laughty 1A Lancarisa
) augy ) prou @) sl @ magazine
(@ solfish ©) modest O medic
165, Onc ot b geeasons for el deah s
156, ECCENTRIC {4 kol proerren
) ) under - reporting of malasial deathn
() carelree ) e over-reporting of matarial deaths
@ normal ©) wnusual 5 i tems
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PASSAGE- Il (Question No. 164 - 168)

Directions: Ln Questions No. 169 to 173, four alematives
aegivenfer the ldiom\ Thrase underlinee in the sentenge.

The capitalist system does not foster healthy relations

beis wof
production and othiers have to sell their labonr undec
conditions imposed upon them. The emphasis of
capitalism being on the supreme importance of mat
wealth, the intonsity of its appeal s to the acquisitive
tendency. It promotes worship of economic power with

of the ldio\ Phrase and mark it in the Answer Sheet.
169, “I am goiny to stay at home because [ am feeling
sweather today.”

(B) irvitated.
sick.

170,

y

H
(A) abusing each other
(B) agreeoneverything
(q aloof from each other

duction v
pr
of huenan socicty s done an the basis of profit matise. All

7.

o the founders of religion for succour,they rather
Do a i detenc o the au i i They
promise future happiness for present suffering, They
conjure up visions of paradise to soothe the suffcring
‘majority and censure the revolt of the tortured men, The
system imposes injustice, the religion justifies it

164. 5

(A) was sensible (B) was crazy
(© wasselicentred ©) wasimpulsive
Everybody thought Asha and Ashok were happy
couple, bt itwasall yustmagbehvw

el

(A) pretence
(©) hawed (D) treachery

The winning team dedided to go for thejugularin

172,

173.

(A) ambitious ® prosperous
© dchmlumxmg (o) fair

(A) Forfeit the match
(s) Attack afl out
sy opportanities o the opposieteam

165.
(A) toproduce maximum wealth Questians No. 174t 183,
(8) to have visions of paradise.
= The sepience, Ghiton he coect ahernaitve T
e sentencc. Choose the cortect alternative. In case no
) Bcutrs il vaslh improvement is needed your answer is (D). Mark your
166. orted by religion t6 .
@) perpelua(r the ln}usutc imposed by.the | 174 ?ffff"'Mm‘ to think logically because of
capita is illness .
(A) can not be able (®) was notable
® rﬁiﬂfmguimmmmmzm [ Bmitntatis ey
© 175, Th s i
. . . (A) asKohima ® s
) alleviste the sueing of the poot in the fef koo PNkt e
e “:f e 176, River Damodar in West Bengal cary the effuents
i s (&) camies i cfuses
m) uplnllmmdexplmwdpeeple ®) c cffluence
ious and irzeligious peaple © ;-[kdw ucnts
(q ot - 2 et I
Worklitg arel oo 45 e Hup swhala s thving i all of she warld's
D skigad sl g e centuy ol wifch ime
168, Inacapitalist system: o becant b he s S

(A) the endsfustify the means.
®) the means endorsed by religion are strictly

() means which lead to exploitation are strictly

(D) themeansustify the ends.
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A The Phae whale s honing nal of e world's
oceans up until the tum of the century

() Biue whales were thriving inallof heworids
oceans until the turn of the cent

‘A he tam of the cenary , e whales were

thriving in all o the world's oceans

© Noimprovement




178, They were beingcommanded o wait tl the signal

seas given
(A) given command (B commanded
@ command D) Noimprovement

Directions : In Questions No. 169 to 195, out of the four
alicratives, choose the o which can be subsituted for

the appropriate oval [ @ | in the Amswer Sht.
189, Someanc who i designated Lo hear hoth sides of a
ispiate and make a judgement.

179, [veas gieuk by his singularuppearance ) megitrate ansger
(8) strack by hissingle appearance O artsirate D) countailor
() had stricken his ingle appearance 180, Todie wihuutmaking wil
() struck by how he singularly appears B) intestate
(©) Noimprovement © inaxe D) inchgent
191, Makepaleby nctucigight
180, W v e evtacing ou sisp b the log Cabin (@ Lo Procreaee
ten minutesago o puwm D) Fole
) ® 192
(@ willboretscing (0} Nosmprovement gA) Convenion ) Gy
181, Hebowed down 193, Onewholsconcemed wlthll‘gwclhmnfnxhexs
() infrontof the alar. ~(8) nextto the altar (&) Hedonst i
befre the alta Noimprovement © At ey
e 198, That which cannot be avéided
182, Thope you will be #ble to sty ahead of the anti- () unvarying @ meviabie
socialclements. (© unrestrained integral
() seerout toerclear 195. A person who agrécs o work for somebody in order
© st (D) Noimprovement tolcarn  skil
() Pupil ) Appreniice
183, Johndécided to goto the Advocate General toclear © Lacksy ) Assstart
s name of the sccusation Diretiime: Induestions nurmber 19 to 200, some parts o
) tockanhisname (B thesentences B Find out
© towanhenime  © v ol
irect iveh, ['t0.(D) inthe Answer Shact
with blanbs to be filled n with e word(s). |19, i work/
Four alternatives are suzzested for each question. Chioose: )
i correct alternative out of the four and indicate it by Ihee hours 250 and havr: been waiting /.
i sh ®
84, T was _ by nature and,o-avoided al) foryoinee hen Moz
company. 197, Astudyis
(4) antisocial @ kordial 7
© regarious © timid todetemmine the exact conentration /
185, The United Kingdorn gland, Wales, 5 o
Scotl d.mdNnr\hemeeland etlendinite gate plosls;/ Mo sror
() compr enmbines 198, Several guests noticed Mir Sharma
© mmpnscsol 0 coren ® i
falling back in his chair /.
T di ©
(3) dispenscd W dispirited PN
© disperscd @) dispatched N
187. fimsaffereda__ __of fortune. 199, Many aman /wanttobe /sichquickly./ Noetror
q
() several ® 200 The Russian ambesvador’s / shereabonts i /
@ regress © revarse s
188, Hewil impart no information____anyo notknewn taanyune. / Nogmor
@ o ® tom () with (D) for © ©
-000-
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